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QUESTION 1

Which node is used to read data from a comma delimited text file? 

A. Var. File 

B. Data Collection 

C. Fixed File 

D. Statistics File 

Correct Answer: A 

 

QUESTION 2

Which method would be used on the Merge node in order to combine a file containing 100 products and a file containing
50 suppliers and retain only the matching records? 

A. Inner join 

B. Anti-join 

C. Full outer join 

D. Partial outer join 

Correct Answer: A 

 

QUESTION 3

Which node should be used if the user wanted to see the number of cases in each category for a variable of Categorical
Measurement level? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

QUESTION 4

System undefined values ($null$) are automatically defined as blank (missing) values in IBM SPSS Modeler. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5
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Which fields are created by this Derive dialog? 

A. Three fields representing the difference between Travel-1 and each of the other Travel fields 

B. No operation will be performed because the expression is invalid. 

C. Four fields representing the difference in weeks between AcclEst and each of the Travel fields 

D. A field representing the difference between AcctEst and the global @FIELD value 

Correct Answer: C 
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